
Accessory Fitting Instructions

1 of 8Publication part number 9900879 issue 1
© Triumph Designs Ltd. 2016

English

Note:

• The Mobile Phone Holder Kit must not be fitted to a motorcycle when a Tank Bag Kit is fitted.
Thank you for choosing this Triumph genuine accessory kit. This accessory kit is the product of Triumph's
use of proven engineering, exhaustive testing, and continuous striving for superior reliability, safety and
performance.

Completely read all of these instructions before commencing the installation of the accessory kit in order to
become thoroughly familiar with the kit’s features and the installation process.

These instructions should be considered a permanent part of your accessory kit, and should remain with it
even if your accessory-equipped motorcycle is subsequently sold.

Mobile Phone Holder Kit. 140 mm x 90 mm
Kit number Models Affected

A9510323 Thruxton 1200, Thruxton 1200 R

Mobile Phone Holder Kit. 160 mm x 100 mm
Kit number Models Affected

A9510324 Thruxton 1200, Thruxton 1200 R

Mobile Phone Holder Kit. 70 mm x 130 mm
Kit number Models Affected

A9510325 Thruxton 1200, Thruxton 1200 R



2 of 8

Parts supplied

1. Holder, mobile phone 1 off 6. Screw, M6 x 16 mm 1 off

2. Mounting, phone holder 1 off 7. Nut, top yoke 1 off

3. Stem 1 off 8. Security strap 1 off

4. Tapered nut 1 off 9. Packing 1 off

5. Screw, M6 x 40 mm 1 off 10. Rain cover 1 off

2

1

3

8

7

9
5

4

6

10



3 of 8

Note:

• Triumph offers a broad range of approved
genuine accessories for your motorcycle. 
We cannot therefore cover all possible
equipment variations in these instructions. For
removal and installation of Triumph Genuine
Accessories, always refer to the instructions
supplied with the respective accessory kit. 
To obtain additional copies of any Triumph
accessory instructions, visit 
www.triumphinstructions.com or contact your
authorised Triumph dealer.

Installing the Stem Assembly

1. Remove the original top yoke nut, as described
in the Service Manual.

1. Top yoke
2. Nut

2. Fit the new top yoke nut provided and tighten
to the torque specified for the original nut in
the Service Manual.

1. Top yoke
2. Nut

3. Collect the stem, tapered nut and M6 x 40 mm
screw from the kit.

Warning
The accessory kits covered in this instruction are
designed for use on specific models of Triumph
motorcycle. The accessory kits and the models
applicable are listed at the start of the instruction.
They should not be fitted to any other Triumph
model or to any other manufacturer’s motorcycle.
Fitting an accessory kit to a Triumph model not
listed, or to any other manufacturer’s motorcycle
will affect the performance, stability and handling
of the motorcycle. This may affect the rider’s
ability to control the motorcycle and could cause
an accident.

Warning
Always have Triumph approved parts, accessories
and conversions fitted by a trained technician of
an authorised Triumph dealer. The fitment of
parts, accessories and conversions by a technician
who is not of an authorised Triumph dealer may
affect the handling, stability or other aspects of
the motorcycle’s operation which may result in
loss of motorcycle control and an accident.

Warning
Throughout this operation, ensure that the
motorcycle is stabilised and adequately supported
to prevent risk of injury from the motorcycle
falling.

2

1

2

1



4 of 8

4. Loosely assemble the stem, tapered nut and
M6 x 40 mm screw, as shown below.

1. Stem
2. Tapered nut
3. Screw, M6 x 40 mm

5. Fit the stem assembly into the headstock,
through the hole in the new top yoke nut.
Ensure the aperture in the stem is aligned
centrally, as shown. Tighten the screw to 8 Nm.

1. Stem assembly
2. Screw
3. Nut, top yoke

6. Fit the phone holder mounting to the stem, as
shown and secure with the M6 x 16 mm screw.
Do not fully tighten the screw at this stage.

1. Stem
2. Mounting, phone holder
3. Screw, M6 x 16 mm

Installing and Removing the Phone Holder

7. Loosely fit the security strap around the stem
on the top yoke and feed the plain end of the
strap through the D-ring. Do not pull the strap
tight around the stem at this stage to allow
access to the M6 x 16 mm screw.

1. Stem
2. Security strap, plain end
3. D-ring
4. Screw, M6 x 16 mm

2

1

3

2

1
3

2

13

2

1

3

4



5 of 8

8. Align the notch on the phone holder with the
corresponding slot in the phone holder
mounting and press the phone holder onto the
mounting until a "click" is heard.

1. Notch, phone holder
2. Slot, phone holder mounting

9. Adjust the phone holder to the desired position
and tighten the M6 x 16 mm screw to 8 Nm.

10. Pull the plain end of the security strap through
the D-ring until the strap is tight around the
phone holder stem. Fold the strap back around
the stem to attach the hook and loop sections
of the straps together. 

1. D-ring
2. Stem
3. Straps, hook and loop sections

11. Attach the security strap clip to the D-ring on
the phone holder.

1. Clip, security strap
2. D-ring, phone holder

12. To remove the phone holder first release the
security strap from the D-ring on the phone
holder.

Caution
Move the handlebar to the left and right full lock
while checking that the phone holder does not
contact the fuel tank, or any other part of the
motorcycle. This will result in damage to the fuel
tank, or other parts of the motorcycle. Adjust the
phone holder position as required to ensure the
phone holder does not contact any part of the
motorcycle.

Warning
When mounting a phone holder to the mounting,
ensure the view to the instruments is not
impaired.

If the view to the instruments is impaired, the
rider may not be in full control of the motorcycle
which could lead to an accident.

Warning
Move the handlebars to left and right full lock
while checking that the phone holder does not
restrict full lock operation. Any component that
will restrict the steering may cause loss of control
of the motorcycle and an accident.

2

1

2

1

3

2

1



6 of 8

13. Locate the red release lever on the right hand
underside of the phone holder. Press the
release lever and lift the phone holder clear of
the mounting.

1. Release lever
2. Phone holder

Fitting a Mobile Phone into the Phone Holder

1. Unzip the clear cover on the phone holder and
peel back the hook and loop straps, as shown.

1. Clear cover, phone holder
2. Hook and loop straps

2. Place the mobile phone in the phone holder
with the phone screen towards the clear
plastic cover and secure in place with the hook
and loop straps. If necessary, use the packing
from the kit to ensure the mobile phone is
correctly held in place.

1. Phone holder
2. Mobile phone
3. Hook and loop straps
4. Packing

3. Ensure the zip on the phone holder is fully
closed when the mobile phone has been
installed.

2

1

2
1

2

2

1 3

4



7 of 8

Installing the Rain Cover

1. Slide the rain cover over the phone holder, as
shown.

2. Squeeze the flaps on the rain cover together to
attach the hook and loop pads and retain the
rain cover in position.

1. Rain cover
2. Hook and loop pads

3. During heavy rain conditions remove the
mobile phone from the holder and place it in a
suitable IP rated protector. The rain cover is
only shower proof.

2

1

Danger
Do not use a mobile phone while you ride. Do not
text while you ride. Do not attempt to adjust any
GPS device while you ride. Telephone calls, texting
or any attempt to use your mobile device for a ny
purpose will distract you, this will cause accidents
that can seriously injury or kill riders, passengers,
occupants in other vehicles and pedestrians.

Warning
When connecting a power harness to the mobile
phone holder, ensure the harness is routed
correctly and cannot contact any hot surfaces of
the motorcycle or interfere with any of the
motorcycle controls. Contact with a hot surface
may result in wiring harness damage and
electrical malfunctions. Any interference with the
motorcycle controls may cause loss of motorcycle
control and an accident.

Warning
The maximum safe load for the phone holder is
250 grams (9 oz). 

Never exceed the safe load limit as this may cause
the motorcycle to become unstable leading to loss
of motorcycle control and an accident.

Warning
After fitting the accessory kit the motorcycle will
exhibit new handling characteristics. Operate the
motorcycle in a safe area free from traffic to gain
familiarity with any new characteristics. Operation
of the motorcycle when not familiar with any new
handling characteristics may result in loss of
motorcycle control and an accident.



8 of 8

Warning
If, after fitting this accessory kit, you have any
doubt about the performance of any aspect of the
motorcycle, contact an authorised Triumph dealer
and do not ride the motorcycle until the
authorised dealer has declared it fit for use. Riding
a motorcycle when there is any doubt as to any
aspect of the performance of the motorcycle may
lead to loss of motorcycle control and an accident.

Warning
Never ride an accessory-equipped motorcycle at
speeds above 80 mph (130 km/h).

The presence of accessories will cause changes in
the stability and handling of the motorcycle.
Failure to allow for changes in motorcycle stability
may lead to loss of control or an accident.

Remember that the 80 mph (130 km/h) limit will be
reduced by the fitting of non-approved
accessories, incorrect loading, worn tyres, overall
motorcycle condition and poor road or weather
conditions.

Warning
The motorcycle must not be operated above the
legal road speed limit except in closed-course
conditions.

Warning
Only operate this Triumph motorcycle at high
speed in closed-course, on-road competition or on
closed-course racetracks. High-speed operation
should only be attempted by riders who have been
instructed in the techniques necessary for
high-speed riding and are familiar with the
motorcycle’s characteristics in all conditions.

High-speed operation in any other circumstances
is dangerous and will lead to loss of motorcycle
control and an accident.



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


